
1 2

1.

2.

SW491684/SW491685/SW491686
    SW491687/SW491688/SW491689
    SW491690/SW491691

SW491684/SW491685/SW491686
    SW491687/SW491688/SW491689
    SW491690/SW491691
  +SW491681/SW491682/SW491683

INSTALLATION INSTRUCTIONS

14

Step 5

Step 6

3.2mm

2

1

1 2

Screw M4x8

Screw M4x8

3.2mm

1

1

2

1

2

1



13

Step 3

Step 4

View from inside



SW491684/SW491685/SW491686
SW491687/SW491688/SW491689
SW491690/SW491691

112

780-795(800mm)

880-895(900mm)

980-995(1000mm)

880-895(900mm)

980-995(1000mm)

1080-1095(1100mm)

1180-1195(1200mm)

1280-1295(1300mm)

1380-1395(1400mm)

1480-1495(1500mm)

1580-1595(1600mm)

Installation Steps

Step 1

Screw
M4x35

View from inside

Step 2

2

1

2

1 1



112

Assembly Drawing

[1] 8xWall Plugs
[2] 8x  M4x35
[3] 8xScrew Cover Caps
[4] 8x  M4x8
[5] 4xScrew Cover Caps

Screws

Screws

[6] 1xHandle Set
[7] 1xDoor Panel
[8] 1x
[9] 2xWall Posts
[10] 5x

Side Panel

Profile Covers

[1]
[2]

[3]
[4]

[5]

[6]

[7]
[8]

[9]

LR

[10]



310

1x
    Instructions

Installation

[2] 
      8xScrews M4x35
      8xScrew Cover Caps

8xWall Plugs

[3] 
      8xScrew Cover Caps

8xScrew M4x8

[4] 1xHandle Set

[5] 2xWall Post

[7] 1xDoor Panel

1 2

1.SQ190
2.SQ190+SQ199

INSTALLATIE INSTRUCTIE

[6] 4xProfile Covers

1x
    Instructions

Installation

[2] 
      8xScrews M4x35
      8xScrew Cover Caps

8xWall Plugs

[3] 
      8xScrew Cover Caps

8xScrew M4x8

[4] 1xHandle Set

[5] 2xWall Post

[3] 1xSide Panel

[7] 1xDoor Panel

[1] 
      4xScrew Cover Caps

4xScrews M4x35

1 2

1.SQ190
2.SQ190+SQ199

INSTALLATIE INSTRUCTIE

[6] 3xProfile Covers

SW491684/SW491685/SW491686/SW491687/SW491688
SW491689/SW491690/SW491691:

SW491681/SW491682/SW491683:

[2] 2xProfile Covers



94

Assembly Drawing

[1] 8xWall Plugs
[2] 8x  M4x35
[3] 8xScrew Cover Caps
[4] 8x  M4x8

Screws

Screws

[5] 2xWall Posts
[6] 1xHandle Set 
[7] 1xDoor Panel
[8] 4xProfile Covers

[8]

[1]
[2]

[3]
[4]

[6]

[7]

[5]



58

Installation Steps

Step 1

Screw
M4x35

Step 2

2

3

1

1180-1210(1200mm)

1380-1410(1400mm)

880-910(900mm)
980-1010(1000mm)
1080-1110(1100mm)

1280-1310(1300mm)

1480-1510(1500mm)
1580-1610(1600mm)

2

View from inside

1

    SW491684/SW491685/SW491686
    SW491687/SW491688/SW491689
    SW491690/SW491691
  +SW491681/SW491682/SW491683



76

Step 3

Step 4

View from inside

Step 5

Screw M4x8

Step 6 View from inside

1

3.2mm

1


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8

